

Two cubic equations and Pi

Edgar Valdebenito

02-07-2019 11:32:33

abstract

This note presents some formulas for Pi

1. Introduction

The number Pi is defined by

$$\pi = 4 \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} = 3.1415926535... \quad (1)$$

In this note we give some series for π .

2. Two cubic equations

Entry 1. The roots $\{a, z, \bar{z}\}$ of the equation: $x^3 + x - 1 = 0$ are

$$a = \frac{1}{6}\alpha^{1/3} - 2\alpha^{-1/3} \quad (2)$$

$$z = -\frac{1}{12}\alpha^{1/3} + \alpha^{-1/3} + \frac{i\sqrt{3}}{2}\left(\frac{1}{6}\alpha^{1/3} + 2\alpha^{-1/3}\right) \quad (3)$$

$$\bar{z} = -\frac{1}{12}\alpha^{1/3} + \alpha^{-1/3} - \frac{i\sqrt{3}}{2}\left(\frac{1}{6}\alpha^{1/3} + 2\alpha^{-1/3}\right) \quad (4)$$

where

$$\alpha = 108 + 12\sqrt{93} \quad (5)$$

Entry 2. The roots $\{b, w, \bar{w}\}$ of the equation: $x^3 + x^2 - 1 = 0$ are

$$b = \frac{1}{6}\beta^{1/3} + \frac{2}{3}\beta^{-1/3} - \frac{1}{3} \quad (6)$$

$$w = -\frac{1}{12}\beta^{1/3} - \frac{1}{3}\beta^{-1/3} - \frac{1}{3} + \frac{i\sqrt{3}}{2}\left(\frac{1}{6}\beta^{1/3} - \frac{2}{3}\beta^{-1/3}\right) \quad (7)$$

$$\bar{w} = -\frac{1}{12}\beta^{1/3} - \frac{1}{3}\beta^{-1/3} - \frac{1}{3} - \frac{i\sqrt{3}}{2} \left(\frac{1}{6}\beta^{1/3} - \frac{2}{3}\beta^{-1/3} \right) \quad (8)$$

where

$$\beta = 100 + 12\sqrt{69} \quad (9)$$

Entry 3.

$$a = \left\{ 1 + \left(1 + \left(1 + \left(1 + \dots \right)^{2/3} \right)^{2/3} \right)^{2/3} \right\}^{-1/3} \quad (10)$$

Entry 4.

$$b = \frac{1}{\sqrt[3]{1 + \sqrt[3]{1 + \sqrt[3]{1 + \dots}}}} = \frac{1}{\sqrt{1 + \frac{1}{\sqrt{1 + \frac{1}{\sqrt{1 + \dots}}}}}}} \quad (11)$$

3. Pi Series

Entry 5.

$$\pi = -4 \tan^{-1}(ab) - 8 \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} a^{2n+1} \operatorname{Re}(w^{2n+1}) \quad (12)$$

$$\pi = -4 \tan^{-1}(ab) - 8 \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} b^{2n+1} \operatorname{Re}(z^{2n+1}) \quad (13)$$

Entry 6.

$$\begin{aligned} \pi &= 4 \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} \left\{ \left(\frac{1}{z} \right)^{2n+1} + \left(\frac{1}{\bar{z}} \right)^{2n+1} \right\} w^{-2n-1} - (aw)^{2n+1} \Bigg\} = \\ &= 4 \sum_{n=0}^{\infty} A_n w^{-2n-1} - 4 \sum_{n=0}^{\infty} B_n w^{2n+1} \end{aligned} \quad (14)$$

where

$$A_n = \frac{(-1)^n}{2n+1} \left(\left(\frac{1}{z} \right)^{2n+1} + \left(\frac{1}{\bar{z}} \right)^{2n+1} \right), \quad B_n = \frac{(-1)^n}{2n+1} a^{2n+1}, \quad n = 0, 1, 2, 3, \dots \quad (15)$$

Entry 7.

$$\begin{aligned} \pi &= 4 \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} \left\{ \left(\left(\frac{1}{w} \right)^{2n+1} + \left(\frac{1}{\bar{w}} \right)^{2n+1} \right) z^{-2n-1} - (bz)^{2n+1} \right\} = \\ &= 4 \sum_{n=0}^{\infty} A_n z^{-2n-1} - 4 \sum_{n=0}^{\infty} B_n z^{2n+1} \end{aligned} \quad (16)$$

where

$$A_n = \frac{(-1)^n}{2n+1} \left(\left(\frac{1}{w} \right)^{2n+1} + \left(\frac{1}{\bar{w}} \right)^{2n+1} \right), \quad B_n = \frac{(-1)^n}{2n+1} b^{2n+1}, \quad n = 0, 1, 2, 3, \dots \quad (17)$$

Remarks:

- For $z \in \mathbb{C}$ (complex numbers), \bar{z} is the conjugate of z .
- For $z \in \mathbb{C}$ (complex numbers), $\text{Re}(z)$ is the real part of z .

References

1. Adamchik, V., and Wagon, S.: A Simple Formula for π . Amer. Math. Monthly 9, 852-855, 1997.
2. Backhouse, N.: Note 79.36. Pancake Functions and Approximations to π . Math. Gaz. 79, 371-374, 1995.
3. Bagis, N.: Eisenstein Series, Alternative Modular Bases and Approximations of $1/\pi$. arXiv:1011.3496. 2010.
4. Bailey, D.H., Borwein, J.M., Calkin, N.J., Girgensohn, R., Luke, D.R., and Moll, V.H.: Experimental Mathematics in Action. Wellesley, MA: A K Peters, 2007.
5. Beckmann, P.: A History of Pi. 3rd ed. New York, Dorset Press, 1989.
6. Berndt, B.C.: Ramanujan's Notebooks. Part IV. New York, Springer-Verlag, 1994.
7. Chan, H.C.: More Formulas for π . Amer. Math. Monthly 113, 452-455, 2006.
8. Guillera, J.: About a New Kind of Ramanujan-Type Series. Exp. Math. 12, 507-510, 2003.
9. Sondow, J.: A Faster Product for π and a New integral for $\ln(\pi/2)$. Amer. Math. Monthly 112, 729-734, 2005.